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(b) Inmethod 2, a known mass of Y was injected into 2 heated gas syringe and the
volume of vapour was measured.

‘The results of method 2 are shown.
Mass of Y =0250g
Volume of vapour  =92cm’
Temperature of vapour = 110°C

Atmospheric pressure =101 x 10°Pa

Use this information to determine the molar mass of Y.
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3 (a) Inan experiment, 1.000 g of a hydrocarbon, A, was burned completely in oxygen
to produce 3.143 g of carbon dioxide and 1.284 g of water.

In 2 different experiment, the molar mass of the hydrocarbon, A, was found to be
840gmol.

Calculate the empirical formula and the molecular formula of the hydrocarbon, A.
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